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PREVIEW QUESTION BANK

s-ENG

Module Name : ntr24-ed21 Gati Shakti multi-modal
Exam Date : 18-May-2024 Batch : 15:00-18:00

Sr. | Client Question
No. ID

Objective Question

1 15642001

Gati Shakti launched year

1.2020
2.2021
3. 2019
4. 2018
Al:1
A2:2

A3:3

Ad 4

Objective Question

2 15642002

tivity for Ed

Question Body and Alternatives

Marks

Read the following statements related to PM Gati Shakti Yojana and select the correct statement from the given options.

(A). Itis a national scheme for multi-modal connectivity.

(B). It brings 16 ministries under a single digital platform.

(C). This program will integrate rail, inland waterways, and ports apart from economic sectors.

(D). This program will use ISRO imagery developed by the BISAG-N.

Choose the eorrect answer from the options given below:

1. {A), (B) and (C) only.
2. (A), (B) and (D) only.
3. {A), (B), (C) and (D).
4. (B), (C) and (D) only.
Al:1
A2:2

A3:3

A4 :4

Objective Question

3 15642003
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Negative
Marks

2.0 0.00

2.0 0.00

2.0 0.00

119
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MoRTH abbreviation

1. Ministry of Roads Transport and Highways
2. Ministry of Rural Transport and Highways

3. Ministry of Rail and Transport and Highways
4 Ministry of Railroads Transport and Highways

Objective Question

4

15642004

503_S2 ntr24_ed21_Live_1-50.html

Who is spearheading the implementation of the Gati Shakti initiative in India?

1. National Highway Development Program
2. Ministry of Transportation

3. NITI Aayog

4 Pradhan Mantri Gram Sadak Yojana

A3:3

Ad:4

Objective Question

5

15642005

--------------------- aims to facilitate the development of multi-modal connectivity infrastructure to various economic zones,

including the Ports and the shipping sector

1. Aatmanirbhar Bharat
2. Make in India

3. Atal mission

4 National Master Plan
Al:1

A2:2

A3:3

Ad:4

Objective Question

6

file:///C:/Users/Administrator/Desktop/18 BATCH 2/zip/503 S2 ntr24 ed21 Live/503 S2 ntr24 ed21 Live 1-50.html

15642006

2.0 0.00

2.0 0.00

2.0 0.00
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How many infrastructure engines are considered in the national mobility plan?

1.5
2.6
3.7
4.8
Al:1
A2:2
A3:3

A4 :4

Objective Question
7 15642007 2.0 0.00
Which of the following best describes the coordination role of central ministries in the PM Gati Shakti scheme?

1. Ensuring that projects are completed within budget

2. Facilitating cooperation among different levels of government and stakeholders
3. Implementing infrastructure projects independently

4. Monitoring environmental impact assessments for projects

Al:1

A2:2

A3:3

Ad:4

Objective Question

8 15642008 2.0 0.00
Under UDAN, what kind of airports are targeted for development?

1. International Airports

2. Metropolitan Airports

3. Regional Connectivity Airports
4 Military Airports

Al:1

A2:2

A3:3

A4 :4

Objective Question
9 15642009 2.0 0.00
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What is the primary purpose of infrastructure development?

1. Entertainment and shelter

2. Economic growth and development
3. Environmental conservation

4 Social media engagement

Al:1

A2:2

A3:3

A4 :4

Objective Question
10 15642010 2.0 0.00
Which of the following statements about the Bharatmala project is true?

1. It aims to develop only urban infrastructure

2 It covers the development of highways across all states of India
3. It focuses solely on improving international connectivity

4 It excludes the development of road infrastructure

Al:1

A2:2

A3:3

Ad:4

Objective Question

11 15642011 2.0 /0.00
When was the Bharatmala Pariyojana project launched?

1. October 25, 2017
2. October 20, 2018
3. October 20, 2017
4. Qctober 25, 2018
Al:1
A2:2
A3:3

A4 :4

Objective Question
12 15642012 2.0 10.00
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Which country has the largest railway network in the world?

1. Russia
2. India
3. China

4 United States of America

Al:1

A2:2

A3:3

A4 :4

Objective Question

13 15642013

What does DFCCIL stand for?

1. Dedicated Freight Corridor Corporation of India Limited
2. Development Freight Corridor Corporation of India Limited

3. Direct Freight Corridor Corporation of India Limited
4 Dedicated Freight Cargo Corporation of India Limited

Al:1

A2:2

A3:3

Ad:4

Objective Question

14 15642014

DFCCIL is aimed at enhancing the transportation of

1. Passengers

2. Goods

3. Livestock

4 Postal services

Al:1

A2:2

A3:3

A4 :4

Objective Question

15 /15642015
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The benefits of a dedicated freight corridor
(A). Efficiency

(B). Capacity

(C). Safety

(D). Sustainability

(E). Political

(F). Administration

Choose the correct answer from the options given below:

1.(A), (B
2.(A), (B),
3.(A), (B),
4.(A), (B),

(C).(D).(E).(F)

(C), (D), and (F) only
(C), (D), and (E) only
(C), and (D) only

— e e e

Al:1

A2:2

A3:3

A4 :4

Objective Question

16 15642016

The MAHSR project, which was sanctioned by the government in 2015, with technical and financial cooperation from the

Government of ———————

1. Russia

2. India

3. South Korea

4. Japan

Al:1

A2:2

A3:3

A4 :4

Objective Question

17 115642017
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The Integral Coach Factory produced the Semi High-Speed Self-Propelled Vande Bharat Trainsets in

1. Mumbai

2. Hyderabad
3. Chennai

4 Surat

2.0 0.00

2.0 0.00
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Al:1
A2:2
A3:3
A4:4

Objective Question

18 15642018
As of October 31, 2022, the Indian Railways have successfully operated -—— — km of Kisan Rail services, effectively

transporting around 7 91 lakh tonnes of perishable items, which include fruits and vegetables

1. 2356 Km
2. 2357 Km
3. 2358 Km
4 2359 Km
Al:1
A2:2
A3:3
Ad 4
Objective Question

19 15642019

Match List-l with List-ll

List-l List-ll

Transportation cost

Mode

(Rs/Ton-km)
(A). Road (). 1.2-15
(B). Rail (I1). 2.0-3.0

(C). Waterways (Il). 0.1-0.15

(D). Pipelines (V). 1.1-12

Choose the correct answer from the options given below:

1(A) - (), (B) - (1), (C) - (1), (D) - (V)
2.(A) - (N, (B) - (1) (C) - (V), (D) - (1)
3. (A) - (N, (B) - (IV), (C) - (), (D) - (1)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (IN)
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Al:1
A2:2
A3:3
Ad 4

Objective Question

20 15642020
What is the primary objective of the Sagarmala Project?

1. To promote agricultural activities in coastal areas
2. To improve connectivity and reduce logistics costs for domestic and export-import traffic
3. To establish marine sanctuaries along the Indian coastline
4. To promote renewable energy projects in coastal regions
Al:1
A2:2
A3:3
Ad 4
Objective Question

21 15642021

Match List-l with List-ll

List-l List-lI

Port led development Activities

(A). Port modernisation (). Upgradation of roads/rails
(B). Port connectivity (I1}. Industrial cluster

(C). Port-led industrialization (In). Efficiency improvement
(D). Coastal community development (IV). Tourism and fishing

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (IV), (D) -(1N)
2.(A) - (i), (B) - (1), (C) - (IN), (D) - (V)
3.(A) - (i), (B) - (1), (C) - V), (D) - (1)
4.(A) - (lin), (B) - (IV), (C) - (1), (D) - (11}
Al:l
A2:2

file:///C:/Users/Administrator/Desktop/18 BATCH 2/zip/503 S2 ntr24 ed21 Live/503 S2 ntr24 ed21 Live 1-50.html

2.0 0.00

2.0 0.00

8/19



5/21/24, 1:07 AM

503_S2 ntr24_ed21_Live_1-50.html

A3:3

A4 :4

Objective Question

22 115642022

UDAN scheme is a part of (NCAP), an abbreviation of NCAP.

1. National Civil Aviation Program
2 New Car Assessment Program
3. National Clean Air Programme
4 National Civil Aviation policy
Al:1

A2:2

A3:3

A4 :4

Objective Question

23 115642023

What role does government regulation typically play in transportation economics?

1. Promoting competition and efficiency

2 Discouraging innovation and investment
3. Minimizing consumer choice

4 Maximizing transportation costs

Al:1

A2:2

A3:3

Ad:4

Objective Question

24 115642024
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_______________ is a metric to gauge a country's economic output
1. Gross domestic product

2. Gross national product

3. Goods Service Tax

4 Inflation

Al:1

A2:2

A3:3

2.0 0.00

2.0 0.00

2.0 0.00
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Ad 4

Objective Question
25 15642025

The recently launched ‘National Logistics Policy’ aims to:

A. Reduce cost of logistics in India to less than 10% by 2030.

B. Achieve single digit ranking in the Logistics Performance Index by 2030

C. Create data driven decision support mechanism for an efficient logistics ecosystem.
Which of the statements given above are correct?

1. Aonly
2 Aand C only
3. B only
4 B and C only

Al:1
A2:2
A3:3
A4 :4
Objective Question

26 15642026

Which of the following statements is correct with reference to India's logistic sector?
A. Logistics cost in India is more than 25 percent of gross domestic product (GDP) against the global average of nearly eight

percent.
B. In the latest version of the World Bank’s Logistics Performance Index (LP!), India dropped to 44™ position.

Select the correct answer from the options given below.

1. Aonly
2. B only
3 Aand B
4 AnorB
Al:1
A2:2
A3:3

Ad:4

Objective Question
27 115642027
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Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - Logistics Management, as its name implies, is an integral component of supply chain management that
diligently oversees the movement of goods into and out of a company’s premises, guaranteeing the seamless operation of

the organization

Reason (R) : The primary emphasis lies on the control and management of the flow of goods into and out of the warehouse.

In light of the above statements, choose the correct answer(s) from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) i1s false.

4 (A) is false but (R) Is true.

Al:1
A2:2
A3:3
A4 :4

Objective Question

28 15642028 2.0 0.00

As the volume of goods or passengers transported increases or decreases, costs fluctuate accordingly. It is an example of?

1. Variable cost
2 Fixed cost

3. Joint cost

4 Common cost

Al:1
A2:2
A3:3
Ad:4

Objective Question

29 115642029 2.0 0.00

As per national logistic policy, reduction of logistic cost can be done in how many strategies?

1. Five
2 Four
3. Three
4 Two

Al:1
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A2:2

A3:3

A4 :4

Objective Question

30 15642030

and are responsible for planning, implementing, and controlling the efficient flow and storage of
goods, services, and information from the point of origin to the final destination.

1. Transport and warehouse mangment

2. Demand and supply chain managment

J. Logistics and Defence States managment
4. Logistic and Supply chain management
Al:1

A2:2

A3:3

A4 :4

Objective Question

31 15642031

------------------ Management is responsible for maintaining the right amount of inventory to meet customer demand while

minimizing carrying costs.
1. Inventory

2. Transportation

3. Customer agent

4 Human resource

Al:1

A2:2

A3:3

Ad: 4

Objective Question

32 /15642032
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Cost per mile means

1. The cost of shipments that are delivered on or before per mile
2 Order picking and packing cost per mile travelled

3. The cost incurred for transporting goods per mile travelled

4 Receiving and shipping cost per mile travelled

2.0 0.00

2.0 0.00

2.0 0.00
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Al:1

A2:2

A3:3

Ad 4

Objective Question

33 15642033

Warehousing encompasses a series of tasks related to the reception, storage, and preparation of goods for subsequent

shipment, this statement was given by?

1. Rober Han

2. Rober Hulk

3. Rober Helin

4 Rober Hughes
Al:1

A2:2

A3:3

A4 :4

Objective Question

34 15642034

ULIP abbreviation

1. Unified Logistics Interface Platform

2. United Logistics Interface Platform

3. Unlimited Logistics Interface Platform
4 Undefined Logistics Interface Platform
Al:1

A2:2

A3:3

A4 :4

Objective Question

35 15642035
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LEADS report used to push healthy competition for improvement in ---—-—-—-— among states

1. Education development
2. Business development
3. Economic development
4 Logistic development

Al:1

2.0 0.00

2.0 0.00

2.0 0.00
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A2:2

A3:3

A4 :4

Objective Question

36 15642036

The geographical location may be -——--—-——-- or

1. Global Present System, dynamic mapping
2. Static, dynamic

3. Static, Global Precise System

4 Global Portion System, Global system
Al:1

A2:2

A3:3

Ad:4

Objective Question

37 15642037

LEADS 2021 report focuses on

1. International and domestic trade
2 Internal and domestic trade

3. International and border trade
4 International and foreign trade
Al:1

A2:2

A3:3

A4:4

Objective Question

38 /15642038
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Which of the following is NOT a potential application of GIS in Gati Shakti?

1. Optimizing transportation networks

2. Managing land acquisition for infrastructure projects
3. Monitoring air quality in urban areas

4 Tracking progress of construction projects

Al:1

2.0 0.00

2.0 0.00

2.0 0.00
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A2:2

A3:3

A4 :4

Objective Question
39 15642039

GIS represents a location in

1. Two

2 Three

3. Four

4 Five

Al:1

A2:2

A3:3

A4 :4

Objective Question
40 15642040

How does GIS contribute to infrastructure development under Gati Shakti?

503_S2 ntr24_ed21_Live_1-50.html

dimensional coordinates.

1. ldentifying suitable locations for industrial parks

2 Designing architectural blueprints
3. Analyzing financial investments
4 Conducting road surveys

Al:1

A2:2

A3:3

Ad:4

Objective Question
41 15642041

-------- bonds in India are financial instruments, designed to raise capital specifically for projects or initiatives that have
positive environmental impacts

1. Green
2 Blue
3 Red
4 Yellow

Al:1
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A2:2

A3:3

A4 :4

Objective Question
42 115642042

----------------------- bonds are financial instruments used to raise funds for projects with environmental and social benefits

1. Financial

2 Environemntal

3. Sustaianbility

4 Social development
Al:1

A2:2

A3:3

A4 :4

Objective Question
43 115642043

Gati Shakti has the potential to contribute significantly to several SDGs, identify the following

Match List-l with List-ll

503_S2 ntr24_ed21_Live_1-50.html

List-l

List-ll

PM Gati Shakti expectations

Sustainable Development Goals

(A). Resilient infrastructure (). Goal 7
(B). Energy infrastructure and efficiency (I1). Goal 9
(C). Sustainable cities (111). Goal 13
(D). Climate-resilient development (V). Goal 11

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (), (C) - (1), (D) - (IV)
2.(A)- (), (B) - (1), (C) - (V), (D) - (11}
3.(A)- (), (B) - (IN), (C) - (IV), (D) - (11}
4.(A)- (1), (B) - (IN), (C) - (1), (D) - (IV})

Al:1

A2:2
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A3:3

A4 :4

Objective Question
44 115642044 2.0 0.00

Abbreviation of "SLL" in meeting certain environmental, social, and governance (ESG) criteria.

1. Social-Logistic Limited

2. Sustainability-Linked Loans
3. Social-Linked Limited

4 Sustainability-Logistic Loans

Al:1

A2:2

A3:3

Ad 4

Objective Question
45 15642045 2.0 0.00
What is the timeframe for achieving the Sustainable Development Goals (SDGs)?

1. 2025
2.2030
3.2040
42050

Al:1

A2:2

A3:3

A4:4

Objective Question

46 15642046 2.0 0.00

Which of the following is a key principle underlying the SDGs?

1. Economic inequality

2. Environmental degradation
3. Leave no one behind

4 Political stability

Al:1

A2:2

A3:3
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A4 :4

Objective Question

47 15642047

Which international organization monitors progress toward achieving the SDGs?
1. United Nations

2 World Bank

3. International Monetary Fund (IMF)

4 World Health Organization (WHO)

Al:1

A2:2

Ad:4

Objective Question

48 15642048

Think about the following statement(s) about sustainability.

. It describes a process or situation that can last endlessly.

1. Natural resources must be used in a way that does not result in ecological debts due to overexploitation of the Earth's

carrying and productive capacities.

Ill. Keeping the whole natural capital base above its current level is crucial for long-term sustainability

Choose the correct answer from the options given below
1. Only |

2. Only ll

3. Only Il and 111

4 1 lland 1l

Al:1

A2:2

A3:3

Objective Question

49 15642049
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Which one of the following is not a sustainable growth goal(s)?

1. Maintain the family planning program’s implementation

2. Maintain dynamic stability of arable land of at least 123 million hectares, as well as an agricultural development strategy.

3. Preserve a dynamic water resource balance by lowering water usage per unit of gross domestic product (GDP) and
agricultural additional value

4. To lead about such a substantial, though not always disastrous, change in the environment
Al:1
A2:2
A3:3

A4 :4

Objective Question

50 115642050

Designing self-sustaining systems is a viable path toward long-term progress

1. Flexible

2. Reversible and flexible

3. Reversible and inflexible

4. Immutable and unchangeable
Al:1

A2:2

A3:3

Ad: 4
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